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Today's Learning:

Solving Simultaneous Equations by elimination.
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Solving by elimination:
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Solving Simultaneous Equations

3% Label the equations
X Multiply each equation so you can cancel something out

Y% Add the equations together

* Solve

X% Substitute to find the other unknown
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Today's Learning:

To practise exam type questions on simultaneous
equations.
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Exam Questions
Two burgers and a milkshake cost £8.40. Three burgers
and two milkshakes cost £13.55. By forming a pair of
simultaneous equations, find the cost of burgers and
milkshakes.
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